

# MAHARASHTRA STATE ELECTRICITY TRANSMISSION COMPANY LTD. EHV CCCM DIVISION AKOLA.

**OFFICE OF** 

The Executive Engineer (C) EHV CCCM Dn. Akola. Vidyut Bhavan 3<sup>rd</sup> Floor, Ratanlal Plot Akola.

Phone No. 0724-2434477

Date: 13.01.2021

Fax No.

E-Mail ID: ee1720@mahatransco.in

No.EEC/EHV/CCCM/Dn./Akl/Tech/29

## **SRM E-QUOTATION**

To	0,					

**Sub :-** Work of Dismantling of 3 Nos. Old Deteriorate Column Beam type 132 KV Isolator Foundations along with construction of 3 Nos. New 132 KV Isolator foundations at 132 KV S/Stn Malkapur.(Rfx. No. 7000018484)

## Dear Sir,

Online scribed Percentage rate quotations are invited so as to reach this office on or before **20.01.2021** for the above said work as per Schedule 'B' enclosed & as per Terms & Conditions given below. SRM E-Quotation will be opened on **21.01.2021** at **11:00** Hrs. if possible.

The SRM E-Quotation will be available at <a href="https://srmetender.mahatransco.in">https://srmetender.mahatransco.in</a> from 14.01.2021 to 20.01.2021 on working days from 11.00 to 17.00 Hrs.

Right to reject any or all the E-Quotations without assigning any reason thereof is reserved by the undersigned.

#### **TERMS & CONDITIONS**

- 1. Uniform percentage rate E-Quotation are invited from reputed and experienced Civil Engineering contractors who are registered under an appropriated classifications with following prequalifying conditions, which are based on central vigilance commission. Government of India are as
  - i) Valid Certificate of registration of appropriate class for civil works form PWD /MES/Railways/Jeevan Pradhikarn/MAHAGENCO/MAHATRANSCO /MAHADISCOM / ETC. OR from Any Govt./Semi Govt. & Central Government.
  - ii) G.S.T. Registration Certificate.
  - iii) Agency has to submit the Certificate of Experience for execution of Civil works in Govt. Organization as well as private sector duly signed by the officer not below the rank of Executive Engineer or equivalent in case of Govt. Works or form

authority of private sector along with copies of agreement of work /work orders mentioned in the certificate for private sector work.

Experience for having successfully completed similar civil works during the last 7 years ending the last day of month previous to one in which the Quotation are invited should be either of following.

a) "Three similar completed civil works costing not less than the amount equal to 40 % of estimated cost."

#### OR

b) "Two similar completed civil works costing not less than the amount equal to 50 % of estimated cost."

#### OR

- c) "One similar completed civil works costing not less than the amount equal to 80 % of estimated cost."
- iv) E.P.F Registration Certificate –issued by complete Authority of Govt.
- v) Payment of EMD online.
- vi) Annexure-G (undertaking on letter head to be submitted by the Bidder declaring that bidder is not debarred/ blacklisted by Govt./Semi-Govt. /other power utilities.)

## > INSTRUCTION TO QUOTATIONER

The Authority inviting the Quotation may call the participant of e-Quotation who has submitted online technical & Commercial bid and paid the requisite EMD up to due date, for submission of hard copies of pre-qualifying documents within 3 to 10 days, in case, of (a) Non uploading of pre-qualifying documents if any, (b) Corrupt uploaded documents, if any and (c) Non legible uploaded documents if any for evaluation of technical bid / pre qualification for opening of commercial bid, please note that pre-qualifying documents issued by the concerned appropriate competent authority on or before last ending day of online submission of technical bid documents and Commercial bid i.e. up to due date will be considered for technical bid purpose. The documents of technical bid issued by competent authority after last ending day will not be considered. Commercial bid will be opened on same day on thereafter, after the evaluation of technical bid.

Also, a comfort letter from a Nationalized or scheduled Bank, addressed to the employer, which describes the dedicated revolving line of credit, of not less than 25 % of the estimated cost of the works, that the applicant will be eligible for the same if the bidder is selected for the award of contract.

The above guide lines should be follow scrupulously henceforth.

**Note:-** All eligible interested contractors are mandated to get enrolled on E-Quotationing portal <a href="https://srmetender.mahatransco.in">https://srmetender.mahatransco.in</a>.

2. The hard copy of Quotation document will not be provided. The Quotation must be filled in the prescribed Online form which can be downloaded from the Website

www.mahatransco.in The Quotation forms will be made available on a non-refundable payment by Online payment.

- 3. a) **E.M.D.** payment will be accepted, online.
  - b) Scan copy of receipt of online payment of EMD & Quotation fees should be submitted online along with Quotation supporting documents while bidding with scan document file name.
- 4. Quotation documents can be downloaded only online from aforesaid website. Eligible contractor / Agencies should submit their bid well in advance instead of waiting till last date. MSETCL will not be responsible for non-submission of Bid due to any website related problems.
- 5. The Quotation offer submitted online without scan copy of E.M.D payment or with incomplete details will not be considered.
- 6. The Quotationer will have to submit the offer in two Bids.
  - I) Technical bid
  - II) Commercial bid (Price Bid)
- 7. **Technical Bid :-** Quotationer should submit the scan copies of following documents / certificates in 1<sup>st</sup> Technical bid
  - i) Valid Certificate of registration of appropriate class for civil works form PWD /MES/Railways/Jeevan-Pradhikarn/MAHAGENCO/MAHATRANSCO /MAHADISCOM / ETC. OR from Any Govt./Semi Govt. & Central Government.
  - ii) Quotationer should possess G.S.T. registration & Other.
  - iii) Partnership deed if it is a partnership firm.
  - iv) E.P.F Registration under the ACT.
  - v) Income tax certificate i.e. F. Year 2017-18, 2018-19 & 2019-20 and profit & loss certificate.
    - vi) G.S.T. registration as per rules.
  - vii) Net worth certificate @25 % Quotation cost of last 3 financial years i.e. 2017-18, 2018-19 & 2019-20 issued by the chartered Accountant in practice, having UDIN No. is Compulsory.
  - viii) Solvency certificate issued by nationalised / schedule bank after **01.04.2020**.
  - ix) Turnover Certificate @30 % Quotation cost of last three financial years i.e. **2017-18, 2018-19 & 2019-20** issued by the chartered Accountant in practice, having UDIN No. is Compulsory.
  - x) PAN Card & Aadhar card.
  - xi) Bank Details i.e. Cancelled Cheque.
- 8. Commercial Bid :- Quotationer Should submit scan copies of "Commercial Bid (i.e. Schedule B, Memorandum & General pages of terms & conditions)". Memorandum & schedule 'B" should be self attested by the Agency i.e. signature of the Agency at the end of the every page of schedule "B" and memorandum.

- 9. While submitting online Quotation, Technical Bid & Commercial Bid must be attached with required relevant document in PDF format.
- 10. The Technical Bid will be opened first. Commercial Bid will be opened in respect of those Quotationers who have submitted all information in Technical Bid as required in satisfactory manner & who are qualified.
- 11. Successful Quotationer should submit all required relevant scan copies in soft copy format as well as in hard copies.
- 12. The completely filled SRM Quotation forms will be opened in the office of the "Executive Engineer (C), MAHATRANSCO 'Vidyut Bhavan', 3<sup>rd</sup> Floor, Ratanlal Plots, Akola on **21.01.2021** ( For Technical Bid) & on Dt. **22.01.2021** ( For Commercial Bid) if possible.
- 13. Right to split up the work or to reject any or all the Quotation without assigning any reason thereof is reserved by the undersigned.
- 14. The rates quoted on firm basis in this Quotation offer should be valid for <u>120 days</u> from the date of opening. On receipt of the work order, Quotationer will execute the work as per the Drawings, Schedule & standard specifications of PWD, as applicable, and as per directives of the Executive Engineer or Engineer in- charge.
- 15. <u>SECURITY DEPOSIT</u>: The successful Quotationer / Quotationers shall have to pay Security Deposit amounting to 5% (five percent) of the value of contract by Demand Draft/ F.D.R within 10 days of receipt of the letter of Intent. Demand Draft/ F.D.R. shall be of nationalized bank/ Scheduled bank pledged in favour of Executive Engineer (C), EHV Civil Construction Cum Maintenance Division, M.S.E.T.C.L., Akola.

The successful Quotationer shall also execute a stamped agreement bond as per MSETCL rule at his own cost with the Executive Engineer (C), EHV Civil Construction Cum Maintenance Division, M.S.E.T.C.L., Akola, in the MSETCL's standard form within a fortnight from the issue of work order.

No interest will be payable by the M.S.E.T.C.L. to the contractor on the Security Deposit in whatever form it is held by the M.S.E.T.C.L.

- 16. Failure to furnish the Security Deposit or to execute the agreement within the period specified in the Clause 15 above shall entail forfeiture of the EMD and cancellation of the contract. The security deposit will be refunded only after expiry of maintenance period after satisfactory completion of the work and finalization of contract.
- 17. Quotation which do not fulfil all or any of the above conditions or are incomplete in any respect is liable for rejection.
- 18. The submission of the Quotation by Quotationer implies that he has read these instructions, the conditions of the contract etc., and he has made himself aware of the scope & specifications of the work to be done.
- 19. The Quotationer will have to arrange for all the transport of materials, Man power and T&Ps etc at his own cost.

- 20. Percentage rate shall be quoted in the Memorandum of Quotation Declaration. The percentage rate shall be written both in Words and figures. The discrepancy in figures & words should not be occurred.
- 21. **Payment**:- Quotationer will have to submit the bills in triplicate to concerned Addl. Executive Engineer (C), EHV CCCM Sub-Division who will verify and record the same and submit the same to the office of the Executive Engineer (C), EHV CCCM Division, Akola for passing and payment.

#### 22. MODE OF PAYMENT TO QUOTATIONER:

- a) All payments due to you shall be paid only by "Account Payee Cheques" or as amended by the MSETCL.
- b) Work is to be measured as per standard procedure. Measurement as per schedule shall be taken jointly by persons duly authorized by you & concerned Executive Engineer (C), CCCM Division or his representative.
- c) The measurements entered in the Measurement Books and the Bills prepared shall be signed and dated by both the contracting parties.
- d) You will be intimated in writing by the Engineer the proposed date of measurement .If you do not turn up at the appointed time, Engineer shall have the powers to proceed by himself to take measurement in which case the measurements shall be accepted by you as final.
- e) The Contractor will have to submit the monthly R.A. bill to the Sub-Division Office or before the date issued by the Executive Engineer-in-charge for all the works executed in the previous month. The payment of R.A. bill will be released depending on the fund position in reasonable period as per the terms and conditions of contract/G.O.

No claim for payment of interest / damage etc. for any delay in the payment shall be considered or payable by the Company.

23. <u>Income Tax:</u> Income Tax at the rate applicable will be recovered from your bills & certificate to that effect shall be issued by concerned authority. PAN number must be quoted on the bills while submitting the bills for passing & payment. Without quoting PAN number, no payment will exercise till to submit.

## 24. Goods & Service TAX:-

- G.S.T. shall be payable by you as per prevailing Government Rules to the Government concerned authority directly & shall be governed by the structural changes made by Government of Maharashtra, if any during the contractual period you will have to submit GST Tax Invoice with the Bills.
- 25. **Labour cess :-** Labour cess of 1 % as per the Government rules will be deducted for the contractor bills.

#### 26. TIME - THE ESSENCE OF CONTRACT:

The overall time allowed for completion of work shall be as mentioned in Quotation Notice. It shall however be clearly understood that it may not the possible for the Company to hand over the entire site of work to the contractor initially itself and the various parts of site may be handed over in stages also, to suit Company's requirements and conveyance and the contractor shall be expected to adjust and plan his constructions activities accordingly. It shall also be explicitly understood that the Contractor shall have to execute and complete works under contract in stages in accordance with the completion programme as approved and intimated to him by the Engineer-in-charge during the course of the contract, and hand over to the Company the completed works in Accordance with such programme.

It may be clearly understood that the contractor shall be bound to complete and hand over to the Company any works and structures that may be required by the Company earlier than the period indicated in the said programme without any extra expenditure to the Company.

You will have to submit the detailed PERT Network / Bar Chart and Activity schedule within the time frame agreed.

- 27. All royalties and all other Taxes shall be paid by you at your cost. All royalty vouchers shall be submitted to Sub Division Office in original.
- 28. The rates quoted should be firm and price variation/escalation will not be applicable.
- 28) Quotationer will have to complete the work within <u>time limit as scheduled in</u> <u>Quotation/ notice</u>, from the date of handing over of site in full and complete manner.
- 29) If the contractor desires an extension of the time for completion of the work, on the ground of having been un-avoidably hurdled in its execution or on any other ground, he shall apply in writing for extension of time limit to the concerned Executive Engineer (C), through the concerned Addl. Executive Engineer (C), before the expiry of the stipulated time limit. The Executive Engineer (C), the Superintending Engineer (C) and Chief Engineer may recommend such extension in time limit, which in their opinion is reasonable, necessary and proper. The decision in this matter, of the Competent Authority, shall be final and binding on the contractor.
- 30) **Liquidated damages/ Penalty:** The liquidated damages/ penalty will be levied at the rate of ½ % per week on the balance quantum of works, subject to the maximum of 10 % of the total value of the Work Order.

### 31) TERMINATIONS FOR CONTRACT:-

The Executive Engineer (C), EHV Civil CCCM Division, MSETCL, Akola, reserves the right to terminate the contract (of which termination notice in writing to the contractor under the hand of the Executive Engineer (C) shall be conclusive evidence, after giving due notice to contractor, in the event of the breach of contract in any respect or undue delay in execution of work/starting of the work and in that case the security deposit of the contractor shall stand forfeited and be absolutely at the disposal of the MSETCL as per rules.

#### 32) CONTRACTOR'S EMPLOYEES:

The contractor will have to employ and provide onsite only such employees who are skilled and experienced for execution and supervision of works. The contractor will have to make his own arrangements for the housing of his staff and labour on a piece of land shown by the Engineer-in-charge at a nominal rent of Rs. 100.00 (Rupees one hundred, only) for the entire contract period including all extensions, provided such land is available. You will also be responsible for any injury/accident to your employees. Payments of compensations etc. as may require to

be paid eventually shall be borne by you. You should ensure that your staff uses the requisite safety equipment. The employees should be duly insured against any such eventually.

#### 33) DEPARTMENTAL SUPPLY OF WATER, IF AVAILABLE:

In case departmental water, if available, will be supplied to contractor for construction purpose, the same will be charged at flat rate of 0.25 % of the total contract amount and the recoveries would be effected, irrespective of the quantum of water supplied, from the running account bills at the rate of 0.25 % of the gross value of each running account bill including the value of all extra items, claims and before deduction of conditional rebates, if any. Balance recoveries, if any, will be made from the final bill.

### 34) DEPARTMENTAL SUPPLY OF ELECTRICITY, IF AVAILABLE:

In case electricity, if available, will be supplied to contractor for construction purpose, the same will be charged at flat rate of 0.25 % of the total contract amount and the recoveries would be effected, irrespective of the quantum of electricity supplied, from the running account bills at the rate of 0.25 % of the gross value of each running account bill including the value of all extra items, claims and before deduction of conditional rebates, if any. Balance recoveries, if any, will be made from the final bill.

#### 35) DAMAGE TO PERSONS AND PROPERTY:-

You will indemnify the MSETCL against any losses and claims regarding any injuries or damage to any person, material or physically damage any property whatsoever which may arise out of or in consequence of the execution of work. During execution of work any damage/loss to transmission Company's property occurs will be recovered from your bill.

#### 36) **SUPERVISION OF THE WORKS:**

The works shall be under the overall supervision & shall be subject to the approval of the Executive Engineer (C), EHV CCCM Division, Akola. You will have to obtain a certificate from the Executive Engineer (C), EHV CCCM Division, Akola for having executed the works satisfactorily.

37) In case of any dispute arising out of your contract, it will be in the jurisdiction of Akola Court only.

Sd/(Vinod S. Rathod)
Executive Engineer(C) (I/c)
EHV CCCM Dn, MSETCL, Akola

Name of work: Work of Dismantling of 3 Nos. Old Deteriorate Column Beam type 132 KV Isolator Foundations along with construction of 3 Nos. New 132 KV Isolator foundations at 132 KV S/Stn Malkapur.

# $\underline{SCHEDULE-B}$

Ite m No.	Particulars of item	Unit	Qty	Rate	Amount
1.	Dismantling the reinforced cement concrete work 1:2:4 and sorting out the materials such as steel etc. as directed and stacking them within the specified lead as directed etc. complete.	Cubic Metre	40.00	1559.00	62360.00
2.	Hiring of labour -Unskilled Mazdoor Heavy Male	Day	4.00	661.00	2644.00
3.	Removing cast iron or wrought iron or asbestos cement pipe and stacking them as directed with all leads, lifts etc. complete.	Rmt	20.00	24.00	480.00
4.	Excavation for foundation in earth, soil of all types, sand, gravel and soft murum, including removing the excavated material up to a distance of 50 metre beyond the building area and stacking and spreading as directed, dewatering, preparing the bed for the foundation and necessary back filling, ramming, watering including shoring and strutting etc. complete (Lift upto 1.5 metre)	Cubic Metre	36.00	215.00	7740.00
5.	Excavation for foundation in earth, soil of all types, sand, graval and soft murum, including removing the excavated material up to a distance of 50 metre beyond the building area and stacking and spreading as directed, dewatering, preparing the bed for the foundation and necessary back filling, ramming, watering including shoring and strutting etc. complete. (Lift from 1.5 metre to 3.0 metre)	Cubic Metre	7.500	268.00	2010.00
6.	Providing soling using 80 milimetre size trap metal in 15 centimetre layer including filling voids with crushed sand / grit, ramming, watering, etc. complete.	Cubic Metre	5.410	1858.00	10051.78
7.	Providing and laying in situ cement concrete of 1:4:8 proportion with trap/ granite/ quartzite/ gneiss metal in foundations including necessary form work, compacting and curring, etc. complete. (with reversible drum type mixer with Supervisory Control and Data Acquisition with fine agreegates of required specifications (Natural sand / VSI sand finely washed etc)	Cubic Metre	2.360	6703.00	15819.08
8.	Providing and fixing in position thermo mechnically treated FE-500 steel bar reinforcement of various dias for reinforced cement concrete pile caps, footings, foundations, slabs, beams, columns, canopies, staircases, newels, chajjas, lintels, pardis, copings, fins, arches, etc. as per detailed designs, drawings and schedules including cutting, bendding, hooking	M.T	0.660	76838.00	50713.08

	the bars, binding with wires or tack welding and supporting				
	as requied complete. (For Ground Floor)				
9.	Providing and laying in situ/Ready Mix cement concrete M-20 of trap / granite /quartzite/ gneiss metal for reinforced cement concrete work in foundations like raft, strip foundations, grillage and footings of reinforced cement concrete columns and steel stanchions, etc. including bailling out water, formwork, cover blocks, compaction, curing and roughening the surface if special finish is to be provided (Excluding reinforcement and structural steel), etc. complete, with fully automatic micro processor based Programmable Logic Controller with Supervisory Control and Data Aquisition enabled reversible Drum Type mixer/ concrete Batch mix plant (Pan mixer) etc. complete. With fine aggregate (Natural Sand / Crushed sand VSI Grade finely washed etc)	Cubic Metre	5.620	8197.00	46067.14
10.	Providing and laying cast in situ / Ready Mix cement conrete M-20 of trap / granite /quartzite/ gneiss metal for reinforced cement concrete columns as per detailed designs and drawing or as directed, including steel centering, formwork, cover blocks, aying/pumping, compaction, finishing the formed surfaces with cement mortar 1:3 of sufficient minimum thickness to give a smooth and even surface or roughening the surface if special finish is to be provided and curing, etc. complete. (Excluding reinforcement and structural steel). with fully automatic micro processor based Programmable Logic Controller with Supervisory Control and Data Aquisition enabled reversible Drum Type mixer/ concrete Batch mix plant (Pan mixer) etc. complete.with fine aggregate (Natural Sand / Crushed sand VSI Grade finely washed etc) (For Ground Floor)	Cubic Metre	3.200	15380.00	49216.00
11.	Providing and fixing template for equipment foundation including fixing in line and level etc complete as per instructions of engineer in charge	No.	3.00	266.00	798.00
12.	Providing internal cement plaster 12 milimetre thick in a single coat in cement mortar 1:4 without neeru finish to concrete or brick surfaces, in all positions including scaffolding and curing, etc. complete. (For Ground Floor)	Sq.Mtr	10.600	320.00	3392.00
13.	Providing and applying two coats of exterior acraylic emulsion paint confirming to corresponding Indian Standard of approved manufacturer and of approved colour to the plastered surfaces including cleaning, preparing the plaster surfaces, applying primer coat, scaffolding, if necessary and watering the surface for two days, etc. complete. (For Ground Floor)	Sq.Mtr	10.600	257.00	2724.20
14.	Providing and laying in trenches 15 milimetre diameter chlorinated poly vinyl chloride pipe including necessary excavation, fittings, refilling trenches, etc. complete Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as	Rmt	5.00	251.00	1255.00

	directed etc. complete. (For Ground Floor)				
15.	Providing and laying in trenches 25 milimetre diameter chlorinated poly vinyl chloride pipe including necessary excavation, fittings, refilling trenches, etc. complete. Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete. (For Ground Floor)	Rmt	10.00	327.00	3270.00
16.	Providing and laying in trenches 40 milimetre diameter chlorinated poly vinyl chloride pipe including necessary excavation, fittings, refilling trenches, etc. complete. Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete. (For Ground Floor)	Rmt	10.00	507.00	5070.00
17.	Supplying and spreading stone dust of trap metal including stacking etc complete as directed by Engineer-in-charge.	Cubic Metre	2.700	1271.00	3431.70
18.	Supplying and spreading crusher broken 40mm metal of trap stone including stacking etc complete as directed by Engineer-in-charge	Cubic Metre	2.110	1502.00	3169.22
19.	Supplying and spreading crusher broken 20mm metal of trap stone including stacking etc complete as directed by Engineer-in-charge	Cubic Metre	1.900	1519.00	2886.10
20	Transportation of materials obtained from debris of various sorts including necessary excavation/loosing including loading, unloading and conveying and disposing as directed	Cubic Metre	40.00	192.00	7680.00
21.	Providing and laying in situ / ready mix controlled grade of M-20 of trap /granite /quartzite /gneiss metal for reinforced cement concrete works in cut off walls / curtain walls including necessary scaffolding, centering, compacting by vibrator, finishing and curing etc. complete. (with fully automatic micro processor based Programmable Logic Control with Supervisory Control and Data Acquisition enabled with reversible drum type mixer/ concrete batch mix plant (pan mixer) with fine agreegates of required specifications (Natural sand / VSI sand finely washed etc ), excluding reinforcement)	Cubic Metre	0.500	9039.00	4519.50
	Total Amount Rs.				
	Say Amount Rs.				

Sd/-

(Vinod .S. Rothod)
Executive Engineer(C)(I/c)
EHV CCCM Dn, MSETCL,Akola.